

FORMERLY WILLOW RUN LABORATORIES, THE UNIVERSITY OF MICHIGAN

PHONE (313) 483-0500

E7.5-10.1.5.8

CR-142182

P. O. BOX 618 • ANN ARBOR • MICHIGAN • 48107

•

103300-44-L 20 February 1975

## Study of Recreational Land and Open Space Using SKYLAB Imagery Monthly Progress Report, January 1975

"Made available under NASA sponsorship in the interest of early and wide dissemination of Earth Resources Survey Program information and without liability for any use made thereot."

EREP Investigation 443 NASA Contract NAS9-13283

(E75-10158) STUDY OF RECREATIONAL LAND AND N75-19782 OPEN SPACE USING SKYLAB IMAGERY Monthly Progress Report, Jan. 1975 (Environmental Research Inst. of Michigan) 5 p HC \$3.25 Unclas CSCL 08B G3/43 00158

## Prepared by

Irvin J. Sattinger - Principal Investigator

## NASA Technical Monitor

Mr. R. E. Joosten/TF6 National Aeronautics and Space Administration Johnson Space Center Principal Investigator Management Office Houston, Texas 77058

103300-44-L 20 February 1975

FORMERLY WILLOW RUN LABORATORIES, THE UNIVERSITY OF MICHIGA

Study of Recreational Land and Open Space Using SKYLAB Imagery Monthly Progress Report, January 1975

## CURRENT ACTIVITY

Activity for the month of January involved a preliminary analysis of S-192 data quality. The data had previously been converted from 9-track, NASA format to 7-track ERIM format. During that process, the doubly sampled thermal band (SDO's 15 and 16) was deleted in order to reduce the total number of channels to the maximum of 20 allowed by the ERIM IBM 7094 computer system.

Because of limited dynamic range noted in previous S-192 data, our first step was to assess the range for the current data set. Dynamic range in this case is defined as the range of integers over which data values representative of total scene variability are distributed. This was assessed for each SDO by histogramming data values from a uniformly distributed cloudfree sample of 7300 pixels (every tenth pixel in every tenth scan line) on one entire tape covering the test site. Dynamic range varied greatly by spectral band, being as low as 28 integer values in SDO's 1 and 2 (.52 -.56  $\mu$ m).and as large as 118 integer values in SDO 19 (.98 - 1.03  $\mu$ m). Table 1 indicates the ranges for all 20 SDO's.

Next, a graymap of a portion of the test site was generated using SDO 19. The large dynamic range of this SDO allowed for a suitable level-set that depicted many of the major scene classes. Training sets of homogeneous compositions were outlined on the graymap with the aid of high-altitude photography. These training sets were for known scene classes that typified



the scene composition and included water, dark muck soil, stubble, green sod grass, herbaceous brush, and hardwood forest. One twenty-channel signature was extracted for each scene class except water, for which three separate signatures were extracted.

FORMERLY WILLOW RUN LABORATORIES, THE UNIVERSITY OF MICHIGAN

Signature means  $\pm$  one standard deviation were plotted in each of the 20 SDOs. Standard deviations on the order of 10 percent or less of the dynamic range were noted to occur for most signatures in 18 of the 20 SDOs. Excessively large standard deviations were noted for an occasional signature mean in a few SDOs, but these were attributed to the presence of bad scan lines in that particular channel. Random occurrence of such bad scan lines in most SDO's have been observed in this and other data sets. Excessively large standard deviations were noted for most signatures in SDO's 10 (.78 - .88  $\mu$ m) and 18 (.46 - .51  $\mu$ m).

In each SDO, the standard deviations of most of the signatures were nearly the same regardless of the value of the mean itself, indicating the absence of a photon noise limited condition. In other words, variance around a signature mean is due to the natural variability of the scene class and inherent fixed system noise. A rough measure of system "noise" was obtained by inspecting integer values in each SDO from a matrix of 150 pixels on a lake surface of assumed uniform reflectance. The rms fluctuations in integer value are stated for each SDO in Table 1. By dividing the previously determined dynamic range for each SDO by the corresponding rms "noise" fluctuations, a measure of signal-to-noise can be stated (Table 1).

The results of Table 1 indicate generally better signal-to-noise ratios for SDOs of the near-IR and mid-IR (.68 - 2.35  $\mu$ m) spectral regions than for the remaining SDOs of the visible and thermal spectral regions. This situation is caused by the limited dynamic range of the visible and thermal SDOs since rms "noise" fluctuations for most SDOs do not change radically. Exceptions are noted for the high "noise" values of SDOs 10 and 18 which result in low signal-to-noise ratios. These SDOs will be deleted from further processing efforts. In order to reduce the cost and simplify the analysis of subsequent data processing, all even numbered SDOs of the high sampling density spectral bands will also be deleted.

**<u><b>ERIM**</u>

FORMERLY WILLOW RUN LABORATORIES, THE UNIVERSITY OF MICHIGAN

TABLE 1.

STATISTICS OF SIGNALS FROM S-192 TAPE COVERING SOUTHEAST MICHIGAN

SDO	Spectral region (µm)	Dynamic Range (integer values)	RMS "noise" fluctuations (integer values)	Signal- to-noise (integer values)
·				· · · · · · · · · · · · · · · · · · ·
1	.5256	28	2.56	10.94
2	.5256	28	2.41	11.62
3.	.5661	30	3.05	9.84
4	.5661	30	3.06	9,80
5	.6267	38	4.75	8.00
6	.6267	38	4.90	7.75
7	.6876	70	4.32	16.20
8	.6876	70	4.51	15.52
9	.7888	95	4.50	21.11
10	.7888	95	20.00	4.75
<b>,11</b>	1.55- 1.75	73	2.78	26.26
12	1.55- 1.75	73	3.01	24.25
13 ·	2.10- 2.35	52	3.55	14.65
14	2.10- 2.35	52	3.80	13.68
17.	1.20- 1.30	106	5.64	18.79
18	.4651	92	14.12	6.52
19	.98- 1.03	118	5.91	19.97
20	1.09- 1.19	105	3.98	26.38
21	10.20-12.50	41	4.50	9.11
22	.4146	38	5,58	6.81

FUTURE WORK

ERIM

During the January reporting period, we have noticed instances of spatial misregistration of the data values among the spectral bands. Activity during the next month will attempt to quantify the magnitude of this problem and determine its significance for the processing objectives of this task. We will also review the spectral signature data already analyzed to estimate the degree to which it is possible to discriminate various scene classes.

FORMERLY WILLOW RUN LABORATORIES. THE UNIVERSITY OF MICHIGAN

In addition, we will initiate the task of using the S-192 data for mapping and analyzing terrain. We will continue our previous contacts with personnel in the Wildlife Division of the Michigan Department of Natural Resources to discuss specific uses of processed S-192 data for wildlife habitat analysis and to select terrain and vegetation classes of greatest significance for these purposes.

Submitted by:

vin J//Sattinger/

Principal Investigator

Approved by:

ard R.

Director Infrared & Optics Division